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BEANRE SH6EEBFMB LA SRETE

4 [ IR - WAKTiE By B = B {f oo ) =
BEIEE 26, 359, 684
RAFIMER R0 05 15 B 26, 359, 684
T 26, 359, 684
T 26, 359, 684
EZARERAR 1,634,828
1 &R (EARERIB) 7,513.00 64 480, 832
m2
2 BRIR (R ARBRAR) 7,513.00 43.35 325, 688
m2
3 EREHEAA ML) (RKBRIR) 7,513.00 68.77 516, 669
m2
4 Bk (R ARBRIR) L&~ 0o e 7,513.00 41.48 311,639
m2
neE 2,923, 600
5 Mg X 1.00 2,923, 600 2,923, 600
=
RIBRE 5,794, 200
6 &A1) i T & FT 4,482.00 321.7 1,441,859
m3
7 {EHI(2) T Hi5 1, 365. 00 321.7 439,120
m3
8 A (-27) (1) 5,379. 00 233.1 1,253, 844
m3
9 TRMEEW (1) HEIER~LHRES 5,379. 00 4944 2,659, 377
m3
fEE 14, 627, 866
10 #E&I(3) T Hi5 13, 287.00 225.2 2,992,232
m3
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11 F&AOW-2") (2 15,994. 00 233.1 3,728, 201
m3

12 £R%EM (2) T Ei5 ~ HE T &R 15, 994. 00 494. 4 7,907, 433
m3

BHL 1,379,190

13 Zith T &RT 13, 287.00 103.8 1,379,190
m3
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% g R - KSR Bifr B 2 B i & B W =
EEIEE 26, 359, 684
MEIEE 2,297,224 + 6,760, 992 9,058, 216
HERERE GDH 2,025,366 + 271,858 2,297,224
HBREE (R) 24,226,874 x 8.36% ((6.20% x1.00 +2.00% x 1.02) 2,025, 366
BEREREE 23,436,084 x 1.16% 271, 858
RisEEER 26,524,098 x 25.49% ((23.05% +1.70%) x 1.03) 6, 760, 992
TER 26,359, 684 + 9,058, 216 35, 417, 900
—REEES 33,285,090 x 19.48% (19.48% x 1.00) — 5,149 6,478, 786
LR E 33,285,090 x 0.04% 13,314
T &l 35,417,900 + 6,478,786 + 13,314 41,910, 000
HETEALE 41,910,000 x 10.00% 4,191,000
FEIZRE 41,910,000 + 4,191,000 46,101, 000
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B AR (RARBRIE) Tm2%Y
2 b g - BIRTE By = BHO(f 25 W = " =
NG PNEY )
m2 1.000 64 64
= it YEEREN :1.00m 2 64 64
&5 .2
5 BRIR (R ARBRIE) Tm2%yY
2 b g - BIRTE By = BHO(f 25 W E " =
BRAR (R ARBR1E)
m2 1.000 43.35 43. 35
& Hi YEEREN : 1.00m 2 43.35 43.35
5.3
£ EREEAA BWET) (AR Tm2%Y
2 b g - BIRTE By = BHO(f 25 W E " =
£EE LA BEWIET) ((RARBRE)
m2 1.000 68. 77 68. 77
& Hi YEEREN : 1.00m 2 68. 77 68.77
F5 . 4
B B (EARBRE) MEIERT~0nHES Tm2%Y
2 b g - BIRTE By = BHoO(f %8 W = " =
B (X ARBRIE) i &R~ 05 %
m2 1.000 41.48 41.48
& Hi E%EEN : 1.00m 2 41.48 41,48
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5:5
2% WnE EX 14y
2 b g - BIRTE By H = B ) # " =
£X (8) ung
t 135. 400 10, 000. 00 1, 354, 000
E£K (R) unzE
t 98. 100 16, 000. 00 1,569, 600
& Hi 1YE%HeH - 1.00K 2,923, 600. 00 2,923, 600
&S5 :6
L% JEEI(1) TR Im3%Y
2 b g - BIRTE By H = B ) # " =
#iEE (1) e T &
m3 1.000 321.7 321.7
& Hi 1E%HEH : 1.00m 3 321.7 321.7
&5:7
&% fEAI(2) THEHUS Tm3HyY
2 b g - BIRTE By H = B ) # " =
#iEHl (2) T HS
m3 1.000 321.7 321.7
& Hi 1E%HEH : 1.00m 3 321.7 321.7
&5 :8
5 BERAW-27) (1) Tm3HyY
2 b g - BIRTE By B = B ) # " =
A 0-2) (1)
m3 1.000 233. 1 233. 1
& Hi 1E%HEH : 1.00m 3 233. 1 233. 1
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2% TREERO) KIS~ IWRES Tm3%Y
2 b g - BIRTE By = B O # " =
TR E (1) EIER~ITHRES
m3 1.000 494 4 494 4
& &t EZHEH : 1.00m 3 494 4 494 4
&5 :10
&% fEAIQ) LTHUS Tm3%Y
2 b g - BIRTE By = B O # " =
#iEE (3) TEUS
m3 1.000 225.2 225.2
& Hi 1E%HEH : 1.00m 3 225.2 225.2
&5 11
£F5: FERAW-17) (2) Tm3%Y
2 b g - BIRTE By = B O # " =
2 0-17) (2
m3 1.000 233. 1 233. 1
& Hi 1E%HEH : 1.00m 3 233. 1 233. 1
&5 :12
£ THEERQ) THRB~RIER Tm3%Y
2 b g - BIRTE By = B Ol # " =
TREE (2) T EUG ~ i TERT
m3 1.000 4944 494 4
& Hi EZ%EEH : 1.00m 3 494. 4 494 4
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5 :13
& Bih EIERT Tm3%Y
£ 5 L - BIRTiE BT = i %5 i " =
i TR
m3 1. 000 103.8 103.8
& i E%8H : 1.00m 3 103.8 103.8




